SOLOTION:

MA 161 & 161E EXAM 1 SPRING 2002

1. Solve for z: z%2 > 2 +2

Xl-—x—a > O A 250
(X=)(x+1)>0 (o< torsss

C. -1

(X-2%0 ¢ x+1>0) O- (X-2<O +x+i<0) D x;

. .
( X>Qa/r~c’c)<>—l) 6V (X< 9. end X(_I) .
X >a oL o x<—1-

2. Find the radius of the circle whose equation is 2 + y2 + 2z — 4y — 5 =0.

A. V5

Crax o wy-wy =8

2
X“rax+ |+ Y-4x 44 = Sttty

C. 3
x4+ + g=2) = 10 @)

E. 10

3. If sinf = —% and 71 <6< 37”, then tanf =

3

A. 3

5 S =
2| ¥ /5
3 c. -%>
V3 - 3
(/gj ) —q o D NG
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. . _In(z+1)
4. The domain of the function f(z)= Wyl is |
X+1 > and X+ > ., ‘”>_1
B. x> -2
— > —
X > MO[ X o C. 2<zx<-1
X> —] D. >0
E.z>2

5. The graph of y = f(x) is compressed horizontally by a factor of 4, then translated 3
units to the left, then reflected about the z-axis. The resulting graph has the equation

Com )>~/9S5C>4 Whovi zenta ‘17 Io7i aC A. y= f(4(z + 3))

Yactow of 42 6’ = S;CAX)_F B. y=f(i($+3)>
a le v e L
tvanslaYed 3 unils to e e (Cy = -4z +3)

y:;@ (x +3)). b y:_f(l(x_3)>
vetlected aboct X —axts E -—f(4? -3))
g - $(4x+3) S

6. A certain radioactive substance has a half-life of 8 days. Initially there are 6 grams of
the substance. After 12 days, how many grams of the substance remain?

m(o)=6. mE)=2.

1 96
| o)
:Th t ClQVS n‘\w W'” k’-& (1>12
v vviods . B. 6-(~
% hal §- lite )o:/g S i 5
)= ¢ (= . s-(3)
‘ whe,n B = '9\]/ D.-‘;i
m(1x) = 6° %«) ’
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7. Ifln(z + 1) —Inz = 1, then

nre)=nt = Snxtl =1 Fe=h
|

1
Xt _ o =¢&. Boo=1-2
x C. x=1+%
X+l = €X Dz ye
| = e X — X :Le — ') X E. There is no solution
3 l
A= e
8. Evaluate cos(sin™! ).
-1 S _ .X A. xr
L@‘\' y =Sin X ) r\ﬁ/n/\ \V\g - ‘ @\/l—_;g
l -1 C L
x .oco(sm )<)=— Cméf P
g4 D. 1
= = Vi=xz -2
E. zv1 - z?

9. The displacement (in feet) of a certain particle moving in a straight line is given by
s = t2 + t, where t is measured in seconds. Find the average velocity for the time
period ‘beginning at ¢ = 1 and lasting for 2 seconds.

S(a) Sy A. 6ft/s
B} —

A‘/Q“&* \/QloccTZ = B. 3 ft/s

?- C. 7ft/s

19 — L D. 4 ft/s

It

o~ @ 5 ft/s
= &
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10. The graphs of the functions f and g are given below.

SPRING 2002

Then l_i’I:I;I_ (g o f(x)) =

Ay
41 .
/Qx/lr\i\ .‘:()() = Q.
34 X3 A. Does not exist
f
2-/——o fo L g (f09)= @0
X2 C. 1
1
/N g@=0 b
/ 1 /z 5 5 E. oo
g g
11. Given that al:l_r)r}r f(z) =2 and zh_r)r;g(a:) =0, then 3:1_1)1113~ @ __” j)j;;a&))z =
{ X<, X=-T< O & ao
| A. 0
X —3 ~"IT’ , 3 — Je >0 B. V32
‘1 N
ond ('X— TI‘)(%(X)) — O Thvoes h C. o
/Y\83Q+lv€ Nnum b ev S 50 _oo
E. Cannot be determined
V& £ex) _ — oo,
(x-M)( g tx)*>
. @B+h)1-3"1
12 jim h - A. 0
1
- -1 ] . B. =
L&’t‘ L\) '*— 3 - 3+ N 91
- " ©)-;
3 —(2+h) b _L
3(3+h) —h ¥

i
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13. Find an interval that contains a root of the equation z3 + z—-3=0

Let €)= X4 x -2 A (-2,

B. (-1,0)
F =1 C. (0,1)
£la)= 9 @(1,2)
S By N Tatev medicfe Valve E. (2,3)

ﬂwnj X3+ X-3:OACQ6 a vool
on M mTeavao (1) &)

10—az, ifzx>a ) .
14. Suppose f(z) = where a is a constant. Find all values of ¢ for

207z, ifzx<a
a.:2,5

Which J is continuous.
“: IS Cen Tinvous -‘:cv 20 VQ'VGS B. a=2,-5

0*‘: X #“' ., .. “: wh i bhe Comtinwes C. a:;2,5
- ,Qz/m/\ D. a=

A ;Q::: -c@) T o xaagt F@. E a:53

-3:?:_\ Ex) = )’CQ:;‘;'/_“, (loaax) = 10—

i - Qe ). Ww-x

X_)Qjﬁ-x L (96-1x)

: D—c = W—1T&

a -7a + 10 = O
(a—9)(a-5)=0
a=3a,s



